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QID : 201 - For construction of structures under water, the type of lime used is .

STt & ofter foneft TR & fRmfor |, T IUTNT fehaT ST &1

Options:
1) hydraulic lime
et

2) fat lime
et

3) quick lime
ST

4) pure lime
T
Correct Answer: hydraulic lime

et T

Candidate Answer: hydraulic lime

QID : 202 - The compound of Portland cement which reacts immediately with water and also sets first is .

Uiéas diHe o A, ST, ST o ATY X AN fehaT T § SR T Uge JAR 8 St 8l

Options:
1) Tri-calcium silicate

2) Di-calcium silicate

3) Tri-calcium aluminate
FHfrad

4) Tetra calcium alumino ferrite

Correct Answer: Tri-calcium aluminate

Candidate Answer: Tri-calcium aluminate

QID : 203 - Rapid hardening cement attains early strength due to .

e gadienvor Wde st arfeh <fter ure anear & iifen

Options:

1)plarger proportion of lime grounded finer than normal cement

A TiHe Sl JofT § T & AT 1Tl AElAaT § Tfua o ST &1

2) lesser proportion of lime grounded coarser than normal cement

T ¥fidie Sl g & T & HH AT o STURsgpd Wftd fRar S g1

3) lesser proportion of lime grounded finer than normal cement

grT=y Eide Sl g & T & HH ATt AT § e faRar S @

4) larger proportion of lime grounded coarser than normal cement

=y Wide it gom & g & ifdes 9Tl sraRsga wenfia forar e 81

Correct Answer: larger proportion of lime grounded finer than normal cement

AT e T JofT H I & AT 1T ol Agl-aT & ST foRa ST &1
Candidate Answer: [ NOT ANSWERED ]

QID : 204 - The percentage of water for normal consistency is .

T G/ TG & T STe et gfasra gar gl
Options:

1)5%1t0 15%

5% 15%

2) 10% to 25%

10% & 25%

3) 15% t0 25%

15% & 25%

4) 20% to 30%

20% ¥ 30%

Correct Answer: 15% to 25%
15% & 25%

Candidate Answer: [ NOT ANSWERED ]
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QID : 205 - Soundness test of cement determines .

e o1 Aot (TRea) wdermr & FufRa w81
Options:

1) quality of free lime

T<h g <l TUTaT

2) ultimate strength

SifaH erTar

3) durability

i

4) initial setting
UREeh afé

Correct Answer: quality of free lime
T<h g <l uTaT
Candidate Answer: quality of free lime

<k I <l TUTaT

QID : 206 - Bulking of sand is caused due to .

39 1 &R H 3ohg gt ST o HRUT gl &
Options:

1) surface moisture

g § 7f

2) air voids

arg s

3) viscosity

AT

4) clay contents

Hardd

Correct Answer: surface moisture
gag # =f

Candidate Answer: surface moisture

gag & 7
QID : 207 - For a 50 kg cement bag, water required is .

50 foh.am. Hide s & fog STl ch STTaRThdT gldt &l

Options:
1) 16.5 liters
16.5 offex
2) 18.5 liters
18.5 oflex
3) 20.5 liters
20.5 #ftex
4) 22.5 liters
22.5#ftex

Correct Answer: 22.5 liters
22.5 ez

Candidate Answer: 22.5 liters
22.5 R

QID : 208 - Pick up the correct statement from the following Method of sawing timber .

ARSI wIeA & BRI & forg Frafafea Y & & @) wem &1 gama fife

Options:

1) tangentially to annual rings, is known as tangential method

T R R Ry (siRraret) ot wRRar Ugfd & &U # Sa1 ST @

2) in four quarters such that each board cuts annual rings at angles not less than 45°, is known as quarter sawing method

IR reTE 9T H 39 Uk S Ydich ThoTch G&i-aord i 45° S iU & i B 7 eI, FIAIR TS Ugfd & & & ST el 81

3) cut out of quarter logs, parallel to the medullary rays and perpendicular to annual rings is known as radial sawing

Teh TS o T ST, St ST/ AoSl @ & AR SR ggeret R & avaad g1, sty werg (feae ardn) ugfy & w9 & Sir siar 1
4) All options are correct

oft

Correct Answer: All options are correct

qoft faepea wgt &

Candidate Answer: All options are correct
goft e wEt &

QID : 209 - For the manufacture of plywood, veneers are placed so that grains of adjacent veneers are .

TRAGR AR (@5gS) & 0T H, HTes IR ot §9 TehR T ST & fh 19 1t U=d o hoT gl

Options:
1) at right angles
ofHIad

2) parallel

GEIEIGH

3) inclined at 45°

45° WPH g

4) inclined at 60°

60° TR ok §Y

Correct Answer: at right angles
T

Candidate Answer: [ NOT ANSWERED |
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QID : 210 - The portion of the brick without a triangular corner equal to half the width and half the length is called .

$¢ o1 I fon fored Frentofta fFRr 7 gt ofk foraeht ofas ik <ers eneft gt ol Sl 81

Options:
1) closer
AT (FATOR)

2) queen closer
[EZEETINT

3) king closer
[ERESIEN

4) squint brick
e

Correct Answer: king closer

[ERESINH

Candidate Answer: king closer
FATOR

QID : 211 - The height of the sink of wash basin above floor level is kept .

I IRT H G, P F TR I TS R g =nfdul

Options:
1) 60 cm
60 9.1,

2) 70 cm
70 .4t

3) 75cm to 80 cm
7534 € 80 §.4.
4) 80 cm

80 4.#1.

Correct Answer: 75 cm to 80 cm
753+t @80 T.#.

Candidate Answer: [ NOT ANSWERED ]

QID : 212 - Pick up the correct statement from the following.

ffafEa & @ wgt a1 g Hifsd

Options:

1)pln order to check up the average depth of excavation, ‘Dead mans' are left at the mid-widths of borrow pits

Tars &t 3Td TewE Y S e & AT 'S A (R & U H Shehle slfe)’ Y @ealt (SRY few) &t mem et A Srer S &1

2) The earthwork calculation in excavation is made from the difference in levels obtained with a level

gt Y wgars (garef adh) & o Y o U R T TR SR Rt Uen R & ffT & ofar & faRam Srar &1

3) The earthwork done in excavation is to form the road embankment includes the formation of correct profiles and depositing the soil in layers
TS deddl I & foiy fg) & gars # Fgt @re! a1 SR e &l IRaeR fAue et gar g1

4) All options are correct

gt faepen gt &

Correct Answer: All options are correct
goft fararea wEt &

Candidate Answer: [ NOT ANSWERED ]

QID : 213 - If the formation level of a highway has a uniform gradient for a particular length and the ground is also having a longitudinal slope, the earthwork may be
calculated by .

Ifg Tt & fAafor TR & e Ay dars & gonen e (3fde) gt ofik St & oft srefidt aurar g, ot gt &t gard & o EERSIGIK|

Options:
1) Mid-section formula

A i g
2) Trapezoidal formula

agsia g

3) Prismoidal formula
[EEEiDEES

4) All options are correct
gt

Correct Answer: All options are correct

qoft faepea wgt &

Candidate Answer: All options are correct
goft e wEt &

QID : 214 - The area of a sloping surface of a protective embankment of mean height d, side slopes S:1 and length L is .

Sfied 1S d, I8 Taurar S:1 3R TS L aTet GR&MeHh desitl & 3ok §¢ Iqg Pl SAhd g
Options:

1)dxdxs

2) V[(d? x (ds?)]

3) L.D v(1+s?)

4) 2Ld v(1+s?)
Correct Answer: L.D v(1+s2)
Candidate Answer: [ NOT ANSWERED ]
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QID : 215 - A cement concrete road is 1000 m long, 8 m wide and 15 cm thick over the sub-base of 10 cm thick gravel. The cubic content of concrete (1:2:4) for the
road specified in is .

e dshle Y Teh Teah 1000 =Y. e, 8 #ft. =it ok 10 .7t 71 A & For 15 .+t At 81 A T & g ahehle (1:2:4) Hremmer A= ghfh
Options:

1) 300 m3

300 #.3

2) 600 m3

600 .3

3)900 m3

900 #.3

4) 1200 m?3

1200 #.3

Correct Answer: 1200 m3
1200 = 3

Candidate Answer: 1200 m3
1200 =3

QID: 216 -
The cross-sectional area of the embankment of a canal fully in em-
bankment, {refer the figure given below) is:-

fopell oot =9 3 qeafid e & &ty #1 PR Iwe awd g
(e 1 7T, SRy &1 g o)

ba

€9, G.L

Options:
1) 1 /2(b1 +b2)h

2) (bq+bg)h+ Sh?
3) (by+by)+2Sh?

4) 2[(bq+by)(b+Sh)]
Correct Answer: (b;+b,)+2Sh?
Candidate Answer: [ NOT ANSWERED |

QID : 217 - The following item of earthwork is not measured separately .

gt 1 gers # fafafea # @ forg A ol srerT & 781 A19T ST 82
Options:

1) Setting out of works

ST Y TATTAT

2) Site clearance

T TEIRNEA

3) dead men

3 B (AR & &Y H chehle sich)

4) All options are correct

oft H

Correct Answer: All options are correct

gt faepen ot &
Candidate Answer: [ NOT ANSWERED |

QID : 218 - Pick up the incorrect statement from the following .

Frfafea & @ Toa sy & gaTa RIfe’ |
Options:
1) No deduction is made for the volume occupied by reinforcement
GGEIAUT ZRT Fer fhy 7Y S | SIS deld! gl
2) No deduction is made for the openings up to 0.1 sq.m
0.1 T . qek i # ol et 1|
3) No deduction is made for volumes occupied by pipes, not exceeding 100 sq. cm in cross- section
100 o §.#t. & SIyRY Shic F 31fdh 7 g W, Afcihrai (UEw) gRT Her fhy 7Y e # &hig wedt Tei
4) None of the these
EEIEG

Correct Answer: None of the these

|

Candidate Answer: No deduction is made for the volume occupied by reinforcement
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QID : 219 - While estimating a reinforced cement structure the omitted cover of concrete is assumed .

ggdighd Ui T &l STAT TTd THT §2TY TG Shehie ol Tt oh Wiehd fohaT SITdT &, 51a

Options:

1) at the end of reinforcing bar, not less than 25 mm or twice the diameter of the bar
Yol e aTelt B€ S i A o1t 25 LA § o 1 8t 3R Saent aarw v & g & qom gt
2) in thin slabs, 12 mm minimum or diameter of the bar whichever is more

Tl d &Y foh v @ &7 12 .. & 8f a1 o< &1 e, S § et am eifdes gl

3) for reinforcing longitudinal bar in a beam 25 mm minimum or diameter of the largest bar which is more
ET BE A Ggeighd e areht S| it geaad 25 Y. Fr i g a1 T 9 B a1 g, a1 § e 919 e gt

4) All options are correct

goft forea wEt &

Correct Answer: All options are correct

gt faepen ot &

Candidate Answer: for reinforcing longitudinal bar in a beam 25 mm minimum or diameter of the largest bar which is more
I BE P Yadiod e arelt d it = 25 L. 6 i g a1 ged 9 B &1 ey, T | fordet A 31fdes gl

QID : 220 - For 100 sq. m cement concrete (1:2:4) 4 cm thick floor, the quantity of cement required is .

100 ot oft. e dehte (1:2:4), 4 Q.. A wef, dhfog e Fir smasasmar gft &1
Options:

1) 0.90 m3

0.90 #t.3

2)0.94m3
0.94 #3

3)0.98 m3

0.98 #.3

4)1.00 m3

1.00 #.3

Correct Answer: 0.94 m3

0.94 #t3

Candidate Answer: [ NOT ANSWERED |

QID : 221 - If h is the difference in height between end points of a chain of length | the required slope correction is .

Tfe; | T Y A & 3id AR & weg i Fard 1 iR h g dt SRy yguar Y= gl
Options:

1) h2/(2))

2) h/(21)

3) h?%/I

4) h2/(4l)

Correct Answer: h%/(2l)

Candidate Answer: h%/(2)

QID : 222 - Correction per chain length of 100 links along a slope of a radians is .

100 STIS I a7 aTeht Udeh o I a ST Ferra & fog d8tem___ gl
Options:

1) 100 a?

2)100a

3)100 a3

4) 100 ol

Correct Answer: 100 a

candidate Answer: 100 a(")

QID : 223 - Check lines (or proof lines) in Chain Surveying are essentially required .

, T IETUT & ST @T (STaT JH107 3@ AAaRid: Saa gl

Options:

1) to plot the chain lines

I TS ol WiIE e oh oIy

2) to plot the offsets

STRYE T WIE A & folg

3) to indicate the accuracy of the survey work

Fderor st Y aRYZAT &t 371 A & forg

4) to increase the out-turn

33T | gfg & fog

Correct Answer: to indicate the accuracy of the survey work

Feror s et uRYYgaT ! 3fd A & fag

Candidate Answer: to indicate the accuracy of the survey work

Fferur s ht aRYLGT ol 3 & & forg

QID : 224 - For taking offsets with an optical square on the right hand side of the chain line it is held .

SR (I) @1 & alfe g1l SR § foreht uemreftar anf & are wwater (sifthde) o & fog, 38 T ST 81
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Options:

1) by right hand upside down

SR 81U & gRT SR F 9 Fir 3k

2) by left hand upright

STY BT & ZRT FHUR ch 3R

3) by right hand upright

a1 BTY h gRT FWR Y

4) by left hand upside down

18 BT & gRI W T 1 fi ek
Correct Answer: by left hand upright
STY §TY T GRT HUR chl 3R

Candidate Answer: by left hand upright
STY BT & ZRT FHUR ch 3R

QID : 225 -
The conventional sign shown in the figure below represents a.

HTepial H S T WRrT 98 1 Uefid B 3l

nh

Options:

1) road bridge
Heeh Gl

2) railway bridge
@ g

3) canal bridge
XY

4) aquaduct

urft & ATt/ S 9
Correct Answer: road bridge
Hgh gt

Candidate Answer: aquaduct

Ot Sl ATt/ ST g

QID : 226 - In an adjusted level when the bubble is central, the axis of the bubble tube becomes parallel to .

FHTANTIT TR R ST JAGT hive 8T, df egell it a1 37aT & GHAMICR i |

Options:
1) line of sight
el

2) line of collimation
AT T

3) axis of the telescope
& arer
4) None of the these
1 & Y e
Correct Answer: line of sight

gfe

Candidate Answer: line of collimation
TERGUT T

QID : 227 - An internal focusing type surveying telescope may be focused by the movement of .

ek ST hichd dTet HA&T0T gRefi ht R TaTer @ thichy fohdT ST eha 81

Options:
1) objective glass of the telescope
RIS
2) convex-lens in the telescope
A A I A
3) concave lens in the telescope
o Sfaad a9
4) plano-convex lens in the telescope
A H THAE-39 A
Correct Answer: concave lens in the telescope
T F sraae d
Candidate Answer: [ NOT ANSWERED ]

QID : 228 - A dumpy level is set up with its eye-piece vertically over a peg A. The height from the top of peg A to the center of the eye-piece is 1.540 m and the reading
on peg Bis 0.705 m. The level is then setup over B. The height of the eye-piece above peg B is 1.490 m and a reading on A is 2.195 m. The difference in level between
AandBis .

F3rch (o17E ) GRT Yk IS TR (S W) ot ehiad SR (9) A wR FafRa fasar mar 81 e (9) A & i & e (a1 i) & dhe A gt 1.540 . & ofR SmuR (3) B R
T&ies 0.705 Y. &1 39 a1g WR st B WR FefRa forar mam) A (o i) &t Sard, 1B § 1.490 . IR E iR A R utsaicr 2.195 H). 1 ASRBF TR G dfmsfar ____ g
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Options:
1)2.900 m
2.900 .
2)3.030m
3.030 .
3)0.770m
0.770 #.
4)0.785m
0.785 .

Correct Answer: 0.770 m
0.770 #t.

Candidate Answer: [ NOT ANSWERED |

QID : 229 - The constant vertical distance between two adjacent contours is called .

T T AT (heR) T aite SR FeaTeR g dl RET ST &

Options:
1) horizontal interval
ST sfaRTet
2) horizontal equivalent
g
3) vertical equivalent
TEEd gAded
4) contour interval
eI (dhey) Sfawrer
Correct Answer: contour interval
T (hey) Sfavre
Candidate Answer: contour interval
eI (dheg) Sfawre

QID : 230 - The direction of steepest slope on a contour is .

Teh GHled TR SAfeeh eror et R 2l

Options:
1) along the contour
gei=g & a1
2) at an angle of 45° to the contour
grifea § 45° & RIOTWR
3) at right angles to the contour
=T § 7 I R
4) None of the these
FTHIFETE
Correct Answer: at right angles to the contour
THIa § | BT R

Candidate Answer: at right angles to the contour
eI & T BT W

QID : 231 - Geologic cycle for the formation of soil, is .

gt & w11 & forg afefes @rsh 21

Options:

1) Upheaval — transportation — deposition — weathering

I8 — aRagd — &y — s

2) Weathering — upheaval — transportation — deposition

e — IsF—URagT — fgy

3) Transportation — upheaval — weathering — deposition
—33H—> e — fgy

4) weathering — transportation — deposition — upheaval

Ieg— URkae — gy — I

Correct Answer: weathering — transportation — deposition — upheaval

3gerg— uRagd — gy — IsH

Candidate Answer: weathering — transportation — deposition — upheaval

3gerg— uRkagd — gy — IsH

QID : 232 - Water content of a soil sample is the difference of the weight of the given sample at the given temperature and the weight determined after drying it for 24

hours at temperatures ranging from .

RSt o o & ST hl A, e Qo TR TR ST 9R 3R 24 € 9 G@™ & 916 oy YR & SR § FeiRa gt § df arosm & serfe (31) __ ghm

Options:

1) 80°t0 90° C
80°¥90°C
2)90°t095°C
90°¥95°C
3)95°to 100° C
95°¥100°C

4) 105°t0o 110° C
105°¥110°C

Correct Answer: 105°to 110° C
105°¥110°C

Candidate Answer: 105°t0 110° C
105°&110°C
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QID : 233 - Fundamental relationship between dry density (yq), bulk density (y) and water content (w) is .

T T (Y), Toeh g (y) SR 5Tt A(w) S Ao difoemr defy, _ giar gl
Options:

1)y = y9/(1+w)

2)vg=v/(1+ w)

3) w=y/(1+yq)

4 w=v/(1yq)

Correct Answer: yq = Y/(1+ w)

Candidate Answer: yq = y/(1+ w)

QID : 234 - Pick up the correct statement from the following .

Frafafea & & 98t sue &1 ge1a SIfed

Options:

1) The void ratio in soils is defined as the ratio of the volume of voids to the volume of solids

7T # Reh Ut ot Rehal & STRIaH T 31 o ST © S1gUTd & &0 § aRIE o &1

2) The porosity of a soil is defined as the ratio of the volume of voids to the gross volume of the soil
T & TR, RehdT & ST ol &l 3 ehel ST § SI0Td o ®U § TR & &1

3) The bulk density of a soil is defined as the unit weight of the soil

T&T T U1k (Se<h) BT, FaT & TS YR § URIfda &ed &1

4) All options are correct

oft H

Correct Answer: All options are correct
H

ot faarea

Candidate Answer: All options are correct
goft e

QID : 235 - Alcohol is used in manometer, because .

aefieR | Her (Yoohiset) o ST fohaT STaT & aRifeh

Options:

1) its vapor pressure is low

ST 9T &TS A BT B

2) it provides suitable meniscus for the inclined tube
foIQ Sugh Aades (Afeny) UaH FxaT gl

3) its density is less

S O A BT B

4) it provides longer length for a given pressure difference

e 7y 21" 3R & fory 3ifees ¢iaTs UeM &ear &1

Correct Answer: its vapor pressure is low

SYHT I TS HH g 8l

Candidate Answer: its density is less

ST O A BT Bl

QID : 236 - The property of fluid by virtue of which it offers resistance to shear is called .

S T 98 0T [Si¥eh HRUT I STUFYYT &l HIeR1Y T 6, g B

Options:
1) surface tension
Hdg d1d
2) adhesion
ST
3) cohesion
i
4) viscosity
AT
Correct Answer: viscosity
JGMEdT

Candidate Answer: viscosity
YT

QID : 237 - The unit of kinematic viscosity is .

TedTcHe AT Sl 3SR
Options:

1) m?%/sec

$.2/3.

2) kg-sec/m?
fran-a./4H.2

3) newton-sec/m?
e/t 2

4) newton-secZ/m

e 2/4.

Correct Answer: m2/sec

#.2/3.

Candidate Answer: m2/sec

#.2/3.
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QID : 238 - The total pressure on the surface of a vertical sluice gate 2m x Tm with its top 2 m surface being 0.5 m below the water level will be .

2. x 1 7. Il TEd SAgR () T fSiere 2t 2 . g1 iR 51 & 0.5 . 2 98 &), R @ aren g e grm
Options:

1) 500 kg

500 fe.am.

2) 1000 kg

1000 fe.am.

3) 1500 kg
1500 fas.am.
4) 2000 kg
2000 fa.am.

Correct Answer: 2000 kg
2000 fas.am.

Candidate Answer: 500 kg
500 for.am.

QID : 239 - Metacentric height is given as the distance between

TAThS $HITS, & 7en Y g § & ST B

Options:

1) the centre of gravity of the body and the metacentre
3R a5 & o ey

2) the centre of gravity of the body and the centre of buoyancy

T & o hg IR Iewra g

3) the centre of gravity of the body and the centre of pressure

T & T[oT ha TR I e

4) centre of buoyancy and metacentre

IcATe he; 3R STTeldches

Correct Answer: the centre of gravity of the body and the metacentre
R ag & Tocd Fg

Candidate Answer: the centre of gravity of the body and the metacentre

SMeAahs 3R a8 & Tocd e

QID : 240 - The difference of pressure between the inside and outside of a liquid drop is .

ST Y & o R & SR IR G T A R glar gl
Options:

Np=Txr

2)p=T/r

3)p=T/2r

4) p=2T/r

Correct Answer: p = 2T/r

Candidate Answer: p = T/2r

QID : 241 - The property by which a liquid opposes relative motion between its different layers is called .

d o1 dg 10T foigeh HRUT g U+ faffia o=l & Aem aaf@er nfd i fRly aeard, __ &geargl

Options:

1) surface tension

Hdg d-1d

2) co-efficient of viscosity
ST T I[UTieh

3) viscosity

JGTAT

4) osmosis

URTEROT

Correct Answer: surface tension
Tdg g

Candidate Answer: viscosity
YT

QID : 242 - The atmospheric pressure with rise in altitude decreases .

FaTE Sig o T aRgHSHIT g L
Options:

1) linearly

dw

2) first slowly then steeply
fiR-efRR R O ftwrar &

3) first steeply and then gradually
uget fterar § ok fike ofR R

4) unpredictable
At
Correct Answer: first slowly then steeply

gt iR iR fomR sftwrar &

Candidate Answer: linearly

QID : 243 - Barometer is used to measure .

argere Arich (RiHfteR) T wiT Ao B gar g
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Options:
1) pressure in pipes, channels etc..
TSy, 9T 311G A and
2) atmospheric pressure
i g
3) very low pressure
Irid A gre
4) difference of pressure between two points
2t fargaft o Aem T SfeR
Correct Answer: atmospheric pressure
i CAE
Candidate Answer: atmospheric pressure
[4E)

QID : 244 - Flow meters based on obstruction principle like orifice plates can be used with Reynold's number upto approximately .

Feprae gl W smenia yarg Hie, S H g ug (W), A1 ITINT T Fies TReAT deh fohdT ST WehaTl &1

Options:
1) 500

2) 1000
3) 2000

4) 4000
Correct Answer: 2000
Candidate Answer: [ NOT ANSWERED |

QID : 245 - The state of the soil when plants fail to extract sufficient water for their requirements is .

&1 &l g SrareT, STET T Su STaLuehdl & SUR STl & @ie & father g s 8, HEAT 8
Options:
1) maximum saturated point

SR Hqw forg

2) permanent wilting point

3) ultimate utilization point

wH

4) None of these

T4 Qg A8t

Correct Answer: None of these

7 @ i 7t

Candidate Answer: permanent wilting point

B

QID : 246 - The field capacity of a soil is 25%, its permanent wilting point is 15% and specific dry unit weight is 1.5. If the depth of root zone of a crop is 80 cm, the
storage capacity of the soil is .

HET T &5 &TAT 25%, TR wefia fareg 15% 3R fafre ok 3e1s 9k 1.5 81 3 thret & ST &4 <l Te<rs 80 1.4, g, af el &t HSrRoT &mar gt

Options:
1)8cm
ga.h.

2)10cm
10 9.

3)12cm
1284

4)14cm
14 3.+,

Correct Answer: 12 cm
12 3.4

Candidate Answer: 12 cm
1234,

QID : 247 - According to the recommendations of Nagpur Conference the width formation of an ideal National Highway in hard rock cutting is .

ANTYR TR i FATRIRN & SR, e T hels A e TEa Ismrf dr dies gt =gl

Options:
1)89m
8.9 #t.

2)79m
7.9 ).

3)69m
6.9 .

4)6.5m
6.5,

Correct Answer: 7.9 m
7.9 .

Candidate Answer: [ NOT ANSWERED ]

QID : 248 - If L is the length of a rail and R is the radius of a curve, the versine h for the curve is .

g forelt ISt Y s L g1 ofR sk <Al Frsar R 8 it agh Y qar-fgsman (3Rams) h, ghm
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Options:
1) a= L/4R

2) a=L2/4R
3) h=12/8R

4)h=12/16R
Correct Answer: h= L2/8R
Candidate Answer: h= L2/8R

QID : 249 - Pick up the incorrect statement from the following.

frfafea & & 7oa sy &1 gema Sifs |

Options:
1) Manholes are provided in sewer pipes at suitable intervals
AT et (R urgy) & ude (AFgie) Iug<h SR W UeH g SIrd 81
2) Catch basins are generally provided in sewers for carrying drainage discharge
AT (¥feR) # Sufar urst () THIG: STUag §1d Y a8 e o o] UaH fhg STTd & |
3) Inlets are generally provided in all sewers
goft memmt (TeR) & uaer gR ueH R sirar g1
4) None of the these
EEIEE ]

Correct Answer: Inlets are generally provided in all sewers

qoft Femmt (HeR) & uder gR ueH fohar Sirar g1
Candidate Answer: None of the these

7 & Y et

QID : 250 - If q is the average sewage flow from a city of population P, the maximum sewage flow .

Tfe; fapedt 28R it STRIRET P ot 3itd It UaTg q &, at Sifehad |t varg gl
Options:

1) Q = [(4+vP)/(18+ vP)]lq

2) Q =[(18 +P)/(4+ vP)lq

3) Q =[(18+VP)/(4 + vP)lq

4) Q=[(5+vP)/(15+VvP)lq
Correct Answer: Q = [(18+VP)/(4 + vP)]q
Candidate Answer: [ NOT ANSWERED ]

QID : 251 - A body is said to be in equilibrium if .

IS g AR A g g AG
Options:

1) it moves horizontally

g &farst et et 81

2) it moves vertically

g Heafer Tl e 81

3) it rotates about its C.G.

TE Tocd he IR YU el &

4) None of these

T A HE T

Correct Answer: None of these

Candidate Answer: it moves horizontally
Ig afast i At 81

QiD:252-

The forces acting normally on the cross section
of a bar shown in the figure given below
introduces

aRITg T3 HHId & FTUR FS o U TS
%ﬂiﬁaﬁwaﬂ@w BT AH
|

i

[p
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Options:
1) compressive stress

2) tensile stress
GEERIGER]

3) shear stress
EYUT

4) None of these
T A T

Correct Answer: compressive stress

Candidate Answer: compressive stress
Ui ufdeaa

QID : 253 - At yield point of a test piece, the material .

forelt ateror g | dies fomg W, uaref

Options:

1) obeys Hooke's law

&% W &1 SIgERuT AR 81

2) behaves in an elastic manner

UARY hY TRE AIGR P18

3) regains its original shape on removal of the load
R % g TR AU HeT SATRfd Y U e el &1

4) undergoes plastic deformation

ATy fI&0T Y UTed et g1

Correct Answer: undergoes plastic deformation
TATRY {0t Y UTed vt &1

Candidate Answer: behaves in an elastic manner
UARY hY TRE TIGR P18

QID : 254 - If a concrete column 200 x 200 mm in cross-section is reinforced with four steel bars of 1200 mm? total cross-sectional area. What is the safe load for the
column if permissible stress in concrete is 5 N/mm? and Eg =15 E¢?

gfé 200 x 200 At & uRY e aTel fovelt dchle Te &t 1200 1.741.2 & geT IIHRY I aTel 4 T &l B! A Ygdied fhaT 7T &, it T & forg GRI&N ¥R & 7o hiford afe
Shehle o1 Wiiepd fdreret 5 /M2 sk Eg =15 E¢ &

Options:

1) 264 MN

2) 274 MN

3) 284 MN
4) 294 MN

Correct Answer: 284 MN
Candidate Answer: [ NOT ANSWERED |

QID : 255 - A steel rod of sectional area 25 sq. mm connects two parallel walls 5 m apart. The nuts at the ends were tightened when the rod was heated at 100° C. If
Osteel = 0.000012/C°, Egteel = 0.2 MN/mm?Z, the tensile force developed at a temperature of 50° C is .

25 3t i1 +4}. TS et aTelt S8Td &l B 5 . F U & TAMIR SaR! Sl Sied! ¢ R iR & 7 &t 8 & 100°C TRA §1 TR HF AT ST 81 A1 dgagry = 0.000012/C°, Egerrg
= 0.2 A-=gea/f . 2 g &Y 50° C droEH R Refa & ae g
Options:

1) 80 N/mm?2

80 =g/ f#f.2

2) 100 N/mm?2

100 =g/ f+f.2

3) 120 N/mm?2

120 =g/ .2

4) 150 N/mm?2

150 =g/ f.#f.2

Correct Answer: 120 N/mm?2

120 e/ s 2

Candidate Answer: 120 N/mm?

120 e/ A 2

QID : 256 - The ratio of tangential and normal components of a stress on an inclined plane through 6° to the direction of the force is .

0° R ok ufdaa & I Y fean F T SR Srefieid gk & Hed SruTd ghml

Options:
1) sin@
2) cosf
3) tan®
4) cos®

Correct Answer: tan6
Candidate Answer: [ NOT ANSWERED ]

QID : 257 - Pick up the correct statement from the following.
frafafaa & & @€ wem o gama fifsR
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Options:

1) For a uniformly distributed load, the shear force varies linearly
UhgH faafRd R & oIy, sraeur 5«1 e uRafdd gar g1

2) For a uniformly distributed load, bulk modular curve is a parabola
YT fdaRa R & forg, i (sreeh) ATaih a3k U gidT &1

3) For a load varying linearly, the shear force curve is a parabola
AQep yRafda ¥R & AU, Sq=qvT S ach URaerd giar g1

4) All options are correct

goft farepeT wét &

Correct Answer: All options are correct

gt faepen gt &

Candidate Answer: All options are correct
goft farrea et &

QID : 258 - At any point of a beam, the section modulus may be obtained by dividing the moment of inertia of the section by .

o= (i) & foneft farg IR, e ATuieh ot STecaryof & @ g ok T foa i Tepar &1

Options:

1) depth of the section

[CSEARIENE]

2) depth of the neutral axis

ATepfaren S1eT

3) maximum tensile stress at the section
@S T SAfeRad T

4) maximum compressive stress at the section
e i ]
Correct Answer: depth of the neutral axis

Ui 3187 i TETE

Candidate Answer: depth of the neutral axis
ATepfaren S1eT

QID : 259 - The moment of inertia of a circular section about any diameter D, is .

T D aTet JAThR TS T STeargut gargl
Options:

1) (nD?)/64

2) (nD%)/32

3) (nD3)/64

4) (nD%)/64

Correct Answer: (tD%)/64

Candidate Answer: (nD%)/64

QID : 260 - In case of principal axes of a section

@ & uu oel & Hey § .
Options:
1) sum of moment of inertia is zero

1 G, I BT Bl
2) difference of moment of inertia is zero
STScTguT T SR, L I &
3) product of moment of inertia is zero

AUt T U, T BT &
4) None of these
EEIEE

Correct Answer: product of moment of inertia is zero
Srecarguf T U, T &l &1

Candidate Answer: product of moment of inertia is zero

SSATgUt T IO, T BIeT &

QID : 261 - The locus of the moment of inertia about inclined axis to the principal axis is .

T 3787 TR Foh 31eT T STS<aTyUl ol faguy (Fend) gt gl

Options:
1) straight line
reft Tar

2) parabola
R

3) circle
kNl
4) ellipse
kNl
Correct Answer: ellipse
ad =
Candidate Answer: [ NOT ANSWERED |

QID : 262 - The ratio of moments of inertia of a triangular section about its base and about a centroidal axis parallel to its base is .

ek ISR ©S & d SR s 3187 it foh e o THHICR §, STScarguf T SgaTd ghml
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Options:

1)1

2)1.5

3)2

4)3

Correct Answer: 3
Candidate Answer: 2

QID : 263 - If aggregates completely pass through a sieve of size 75 mm and are retained on a sieve of size 60 mm, the particular aggregate will be flaky if its
minimum dimension is less than .

TR Ty g ok & 75 f.. It (Ffa) & ur e 8 ok 60 .. 7 areht gt (Ha) w e S g, @ wite wRaar g snR 3HeRT =gAad T (ST JFHIENI

Options:
1) 20.5 mm
20.5 .4,

2) 30.5 mm
30.5 ..

3) 40.5 mm
40.5 ..
4) 50.5mm
50.5 fa.Ht.

Correct Answer: 40.5 mm
40.5 .

Candidate Answer: 40.5 mm
40.5 e

QID : 264 - For the construction of thin R.C.C. structures the type of cement to be avoided is .

IRt . T & fAmfor & forg, UGR & e i e H S 81
Options:

1) ordinary Portland cement

I Uiedis e

2) rapid hardening cement

e ggdianor Hide

3) low heat cement

= e e

4) blast furnace slag cement

SARE AT WET e

Correct Answer: blast furnace slag cement
SAE ATaT Wgl dHe

Candidate Answer: [ NOT ANSWERED |

QID : 265 - Percentage of pozzolanic material containing clay upto 80% used for the manufacture of pozzolana cement is .

SAAEN (Tef1gen) Sl fSaw 80% de gt gt 8, &l Ui saram e (Asia-ge) WiHe & fFmfor 5 dad g gl
Options:

1) 30%

2) 40%

3) 50%

4) 60%

Correct Answer: 30%

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - Pick up the incorrect statement applicable to the field test of good cement.

Teh FIYSTTeRR €S & adt 3R S 3187 St o Ot & TR 8, STecargul & SiguTd _____ g1
Options:

1) When one thrusts one's hand into a bag of cement, one should feel warm
foreht Tidie & aea ()  fonelt o1 g1y e WR, TRY Wy g @nfgul

2) The color of the cement is bluish

e a1 &1 e gtar 81

3) A handful of cement thrown into a bucket of water should sink immediately
orft il et F grereR Fie e W 98 gid g ST Afe|

4) All options are correct

aoft 8

Correct Answer: All options are correct

gt faepea Tgt @

Candidate Answer: All options are correct
goft e wEt &

QID : 267 - Pick up the correct statement from the following.

frfefaa & @ 98t s & g FIfSd

Options:
1) The maximum size of a coarse aggregate is 75 mm and minimum is 4.75 mm
T YR mehR 75 .. ofk gram 4.75 . g 8
2) The maximum size of the fine aggregate is 4.75 mm and minimum 0.75 mm
TEA Qe &1 Sifdehad SR 4.75 f.w. ofk =gaaw 0.75 . giar g1
3) The material having particles of size varying from 0.06 mm to 0.002 mm is known as silt
geref {5k Ul a1 SRR 0.06 .7, § 0.002 .7, e IeetdT & af 98 e & ¥U & ST ST 8|
4) All options are correct
aoft H
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Correct Answer: All options are correct
goft e

Candidate Answer: The material having particles of size varying from 0.06 mm to 0.002 mm is known as silt
varef fSrreh ot T SR 0.06 LY. & 0.002 7. T Feeran & dt g Mg & w9 & ST ST 8

QID : 268 - Sand generally contains salt if it is obtained from .

T ® GHIE: 99 gidT 8, afe a8 J U gl

Options:
1) nala beds
ATet Y Feft

2) river beds
& Y et

3) sea beds
T Y qeft

4) All options are correct
aft g

Correct Answer: sea beds
g Y et
Candidate Answer: sea beds

T Y qeft

QID : 269 - Pick up the correct statement from the following.

frfafEa 3§ & w8t e o1 gama s

Options:
1) Bulking of sand is caused due to formation of a thin film of surface moisture
g ST Y Udelt U=dl & a9 o HROT I Y & a7 et &1

2) Fine sand bulks more than coarse sand
U, Ggd 3 & sarer &R H et &1
3) With 10% moisture content by weight the bulking of sand is increased by 50%
IR F 10% 7+ & 39 &I & 50% ¢ S &1
4) All options are correct
gt

Correct Answer: All options are correct
qoft faepeT wgt &

Candidate Answer: All options are correct
goft e wEt &

QID : 270 - If fineness modulus of sand is 2.5 it is graded as .

R T AT AT AR 2.5 gt A ag ___ SAoft &y gt

Options:

1) very fine sand
Sfd AeH

2) fine sand
LEEESH

3) medium sand
AT 3

4) coarse sand
Correct Answer: fine sand
5l

Candidate Answer: fine sand

QID : 271 - An ordinary Portland cement when tested for its fineness, should not leave any residue on I.S. Sieve No.9, more than .

E Utédie Hide il STa HEl-aT o1 teror foham SraT € af o, g, Iet (Hta) dw@r 9 ) T 31fdes IS sray Tt SteT =1fldu|
Options:

1) 5%

2) 10%

3) 15%

4) 20%
Correct Answer: 10%
Candidate Answer: 10%

QID : 272 - Pick up the correct statement from the following.

ffafEa & & wgt a1 gama Hifs

Options:

1) Insufficient quantity of water makes the concrete mix harsh
et Y Srugied A7 chehle Ao Bt R o= &t &1

2) Insufficient quantity of water makes the concrete unworkable
et Y ST AT dhehie AT st sreaagtiic s &t

3) Excess quantity of water makes the concrete segregated

T T STk AT chehle GUeh & SITdT 8

4) All options are correct

gt faepen ot @
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Correct Answer: All options are correct

gt faepeT wgt @

Candidate Answer: All options are correct
goft e wEt &

QID : 273 - Pick up the incorrect statement from the following.

frfafaa # @ 71era Hue &1 g Fif |

Options:
1) A rich mix of concrete possesses higher strength than that a lean mix of desired workability with excessive quantity of water
Frferrr & g dhshie & ey frsror it 21tk & fvsior aret dhsfle @ sifdres g g1
2) The strength of concrete decreases as the water cement ratio increases
el Wi STUTd o S+ S AT Thehle S 21fxh Tet 31
3) If the water cement ratio is less than 0.45, the concrete is not workable and causes honey-combed structure
I ST e Srgurd 0.45 § A &Y, A Shehic RIAT ol BT 3R helad FEehIY Ha=1 S|
4) Good compaction by mechanical vibrations, increases the strength of concrete
O § 37 Ua § chehie ol ATk FeeT &l

Correct Answer: A rich mix of concrete possesses higher strength than that a lean mix of desired workability with excessive quantity of water
aret Bfeden srferadt & forg dhehie & TR freror &t 1fh o AT aret dhehie & aifdrens gt &1

Candidate Answer: The strength of concrete decreases as the water cement ratio increases

e HiHe STUTE o S+ S AT Thihle S 1Tk TeT 81

QID : 274 - Pick up the correct statement from the following.

ffafed & & 98t sue & goma A

Options:
1) The concrete gains strength due to hydratlon of cement

a1k Hide & STerie (8T3etM) &
2) The concrete cured at a temperature below 23 C, gains strength up to 28 days
23° C ¥ & qruHTE R IUAIRG dhehte, 28 AT # dTehd g1fiet shear g1
3) The concrete does not set at freezing point

fRiiervon forg oR wefie (§e) =i g 8

4) All options are correct
qoft H

Correct Answer: All options are correct

gt faepea ot &

Candidate Answer: All options are correct
qoft faepeT wgt &

QID : 275 - Hardening of cement occurs at

e geagargd

Options:
1) rapid rate during the first few days and afterwards it continues to increase at a decreased rate
et 5 fat F fterar 3 ey ok 36k aTg wedt @ & A1y dgar &t 8|
2) slow rate during the first few days and afterwards it continues to increase at a rapid rate
I Eo A 7 il ax @ ok 393 916 o R G FedT @ 8
3) uniform rate throughout its age
R STaTehreT # GehaA & 91
4) None of these
FHIFE G
Correct Answer: None of these
b =
Candidate Answer: rapid rate during the first few days and afterwards it continues to increase at a decreased rate
et 5 fet & fterar & Ty ofik Iu a1g vedt @ & A1 agar T 8|

QID : 276 - Pick up the correct statement from the following.

Frfafea & & 98t ue &1 goma i

Options:

1) Higher workability indicates unexpected increase in the moisture content
I HTIETHT, THT Y AT A ST gieg; il axrfeht 81

2) Higher workability indicates deficiency of sand

I FHRIETHT, 3 I HAT T <=0l 81

3) If the concrete mix is dry, the slump is zero

T hehic Ao I g1, T aeraerd (70) I ghft

4) All options are correct

g foreheT @l &

Correct Answer: All options are correct

it e @t §

Candidate Answer: All options are correct

gt faepea gt @

QID : 277 - The top diameter, bottom diameter and the height of a slump mould are

KRR NN, qamamsiRFTE it dl
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Options:

1) 10 cm, 20 cm, 30 cm
10 @4, 20 &.#). 30 9.+t
2) 10 cm, 30 cm, 20 cm
10 9.7, 30 .7, 20 ¥+t
3) 20 cm, 10 cm, 30 cm
20 2.#t, 10 9.+, 30 ..
4) 20 cm, 30 cm, 10 cm
20 @.#t, 30 @A, 10 ..

Correct Answer: 10 cm, 20 cm, 30 cm

10 9.4, 20 .5, 30 F.4t.

Candidate Answer: 10 cm, 20 cm, 30 cm
10 @+, 20 &.#). 30 ¥+t

QID : 278 - Pick up the correct statement from the following.

fafafeEa 3§ & w8t a1 gama Aifsa

Options:
1) Segregation is necessary for a workable concrete
rfefter dhehle & fIg gereReheor STasaeh gid &1

2) Consistency does not affect the workability of concrete
TSR, Shehie I Hriemar st U 8T et &1

3) If the slump increases, workability decreases

Tl Eeteetd (S10) Fed! , dt srrderar gedt &1

4) None of these

FTHIFETE

Correct Answer: None of these

FH A FE T

Candidate Answer: None of these

QID : 279 - The grade of concrete M 150 means that compressive strength of a 15 cm cube after 28 days, is .

TH-150 i sioft & chehie a1 oref & o 15 T, & a1 it 28 1 a1g Wt e gt
Options:

1) 100 kg/cm?

100 fer.om./&.#.2

2) 150 kg/cm?

150 fer.om. /&4 .2

3) 200 kg/cm?

200 fr.ar./@.5# 2

4) 250 kg/cm?

250 for.a./@.# 2

Correct Answer: 150 kg/cm?
150 fo5.am./@.+H.2

Candidate Answer: 150 kg/cm?
150 for.m. /@54 2

QID : 280 - The preliminary test is repeated if the difference compressive strength of three test specimens, exceeds .

URIEeR THeT0T ot O: eI ST & afe i adteron & Fi iy e 1fth e s Y afdes glar 81
Options:

1) 5 kg/cm?

5 fop.am. /4.4t 2

2) 8 kg/cm?

8 fop.am. /4.t 2

3) 10 kg/cm?

10 fh.ar./d.# .2

4) 15 kg/cm?

15 fh.ar./d.H .2

Correct Answer: 15 kg/cm?

15 fhar/d.# .2

Candidate Answer: 15 kg/cm?
15 fer.om./&.+# 2

QID : 281 - According to load factor method, the permissible load W on a short column reinforced with longitudinal bars and lateral stirrups is .

IR &R fAfY & SgaR, Taad 8 SR urfife el & aéigd BIC TS T Wighd YR W g gl

Options:

1) Stress in concrete x area of concrete

hehie H ufderet x chehle BT &ther

2) Stress in steel x area of steel

ZeTd | ufded x 3TTd HT

3) Stress in concrete x area of concrete + stress in steel x area of steel
hehie & ufdaet x Shshie o1 &ethel + TUTd § fdere x 3eaTd &

4) None of these

1 & Y

Correct Answer: Stress in concrete x area of concrete + stress in steel x area of steel

e 5 Rt  SEIE a5 I + ST 3 I x T 1 A WWW- SSCJ eCIVI I . CO m



Candidate Answer: Stress in concrete x area of concrete + stress in steel x area of steel

chehle B Ufdaet X Thehlc ohT 85Tthel + STTA A Ufdeel X 3TTT T &1thel

QID : 282 - The length of the lap in a compression member is kept greater than [bar diameter x (Permissible stress in bar )/(Five times the bond stress)] or is .

T o & et (dU) & 4TS, [BS A x (B H Wiiepd Ufdat)/ (STe=4 Uferer ar uta T6T)] & s1feres Tt St & sreran grar gl

Options:

1) 12 bar diameters
12 SR =™

2) 18 bar diameters
18 SR =™

3) 24 bar diameters
24 IR ™
4) 30 bar diameters
30 SR ™

Correct Answer: 24 bar diameters
24 IR I

Candidate Answer: 24 bar diameters
24 IR IE

QID : 283 - A short column 20 cm x 20 cm in section is reinforced with 4 bars whose area of cross section is 20 sq.cm. If permissible compressive stresses in
concrete and steel are 40 kg/cm?2 and 300 kg/cm2, the safe load on the column should not exceed .

20 .. x 20 .. TE & BN TS FI 4 T Y Fogenor har man § Rrdh SryRy Te a1 ket 20 avf .70t &1 e chehie ok 3w i ThfeT ufdeer shmsr: 40 fham/ .4t 2 ok
300 RFur /AR 2@t e AT IR ____  3rfdes gt g =R

Options:

1) 412 kg

412 .

2) 4120 kg
4120 Rem.

3) 412000 kg
412000 f.am.

4) None of these

T A A Al

Correct Answer: None of these
T I g

Candidate Answer: None of these

T A S S
QID : 284 - A column is regarded as long column if the ratio of its effective length and lateral dimension exceeds .

eh ©S I AT TS AT ST TehdT ¢ TG T8 T a8 SR U1 ST Sl SguTd T fde gl
Options:

1) 10

2)15

3) 20

4) None of these

19 @ g Tt

Correct Answer: None of these

Candidate Answer: None of these

QID : 285 - If the size of a column is reduced above the floor, the main bars of the columns .

IfE Hef & JW, TS & AR FI HA R a1 MY TS i 77 B8

Options:

1) continues up

R ek SR B

2) bend inwards at the floor level
e 3 TR TR SR T 7R T e

3) stops just below the floor level and separates lap bars provided
ef & TR & St 12 Aeh § TG 3R AR i T8 Y srer
4) All options are correct

it e @t &

Correct Answer: All options are correct

qoft faepeT gt @
Candidate Answer: [ NOT ANSWERED ]

QID : 286 - The pitch of the main bars in a simply supported slab should not exceed its effective depth by

rRoT 3nfda ugl/ ufear & g T &1 ST, 3T TR TETE & Y 31fdres gl g =nfewl
Options:

1) three times

T

2) four times

ARTAT

32 five times

are AT

4) six times

c
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Correct Answer: six times
ERICH
Candidate Answer: three times

GiERISH

QID : 287 - Distribution reinforcement in a simply supported slab is provided to distribute .

HTEROT SAFST ugl/afean # faeRor gadleneor o faraRa o=t & forg uer fomar st 21

Options:
1) load
HR

2) temperature stress
GIEEIERIEE

3) shrinkage stress
Hepa faea

4) All options are correct
aft g

Correct Answer: All options are correct
gt frereT @t €

Candidate Answer: All options are correct

gt faepen ot &

QID : 288 - In a simply supported slab the minimum spacing of distribution reinforcement should be four times the effective thickness of the slab or .

FIYROT ST UEY/ ufean # faazor ggglentur T SicRTel Tl HeTs T IR AT SreraT BT ARy

Options:
1)20cm
20 g1,
2)30cm
30 @At

3)40cm
40 .7,

4) None of these
g

Correct Answer: None of these

|

Candidate Answer: 40 cm
40 .7,

QID : 289 - The modular ratio 'm’ of a concrete whose permissible compressive stress is 'C' may be obtained from the equation .

AT U 'm’ aTet hehte ohT, SRt Wgra ddftes ufdeet C g, &t THYRROT ZRT UT R ST TehalT &1

Options:

1) m =700/3C
2) m = 1400/3C
3) m = 2800/3C
4) m = 3500/3C

Correct Answer: m = 2800/3C
Candidate Answer: m = 2800/3C

QID : 290 - For M 150 grade concrete (1 : 2 : 4) the moment of resistance factor is .

T 150 ¥ dhshie (1:2:4) & forg, wfaRle gee o1 o g gl

Options:
1)0.87

2)85
3)75

4)58
Correct Answer: 8.5
Candidate Answer: [ NOT ANSWERED |

QID : 291 - If the thickness of a structural member is small as compared to its length and width, it is classified as .

I TR 3T Y HieTE, 3TR A IR A Mg A A g, drzd_ dofipa frarsman gl

Options:

1) one dimensional
T&h

2) two dimensional

& s

3) three dimensional
it smart
4) None of these
s TE
Correct Answer: two dimensional

Candidate Answer: two dimensional
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QID : 292 - Design of a riveted joint assumes that .

RacSie fismmac A ggam ferrsarg fr |
Options:
1) the bending stress in rivets is accounted for
# e ufded & e 8§
2) the riveted hole is to be filled by the rivet
Rae g Rae grr owr smem
3) the stress in the plate is not uniform
g W ufded Yeh GHE el g
4) the friction between plates is considered
¥ oft T STIgT
Correct Answer: the riveted hole is to be filled by the rivet

Rae g Rae grr sy smem

Candidate Answer: the riveted hole is to be filled by the rivet
Rae fvg Rae grr ww=r smgm

QID : 293 - Rolled steel T-sections are used .

A Tl goTT (I8 3T &)-ES T ITINT

Options:

1) as columns

WY (W) & wU A I dl

2) with flat strips to connect plates in steel rectangular tanks
T SMTITHR 2oh A Wie Y sile & g Tuder ugh & arer giar &1
3) as built up sections to resist axial tension

3787 q1a i e & g afafed @ F wU A glar gl

4) None of these

< &

Correct Answer: with flat strips to connect plates in steel rectangular tanks

ST ATITRR 2 H e Pl Sre & g THae ug) & T gar gl

Candidate Answer: as columns

Y (Te) FETH BTl

QID : 294 - With a percentage increase of carbon in steel, decreases its .

Ta@Id & e & Hlaerd i gig & gy, et 8l

Options:
1) strength
Nisg

2) hardness
3) brittleness
HRAT

4) ductility
ELEinG)]

Correct Answer: ductility

Candidate Answer: ductility

QID : 295 - If P is the wind pressure in kg/cm2, v is the velocity in km/hour and K is constant of proportionality then

afe g o RR.an/A .2 & P &), & fhaft/ger F v & ofk K srguifaes R gt

Options:
1) P=K/v2

2) v=K/P?
3) P=Kv?

4) P=Kv
Correct Answer: P=Kv?2
Candidate Answer: P=Kv?2

QID : 296 - Factor of safety is the ratio of

TReN e, T IIUTA BT 81
Options:

1) yield stress to working stress
Iust/ T ufdee § & ufdee

2) tensile stress to working stress
GEC @ rd ufaerer

3) compressive stress to working stress
guiifea ufdee & rf ufdaa

4) bearing stress to working stress

S gfdee & s ufdae

Correct Answer: yield stress to working stress
IuST/ T8 i § e wfaae

Candidate Answer: yield stress to working stress
Iusl/ q= Eap
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QID : 297 - The ratio of shearing stress to shearing strain within elastic limit, is known as .

T HHAT & Siafd STuuoT Hfderet T SToeq T fagpfa & SrgaTd AT &1

Options:
1) modulus of elasticity
TR 0T

2) shear modulus of elasticity

TR &I STTEYUT {[UTieh

3) bulk modulus of elasticity

TR h Se<h T0Tich

4) tangent modulus of elasticity

YR a1 et ot

Correct Answer: shear modulus of elasticity
TR ST U I[UTeh

Candidate Answer: shear modulus of elasticity
TR &l STU=EYUT {[UTeh

QID : 298 - The rivets which are heated and then driven in the field are known .

o Rae ot e fovan S1ar & iR foR & & =nfora frar sar €, & &G F THT a1 8|

Options:

1) power driven shop rivets
<1feh arferd ga Rae

2) power driven field rivets
<1k arfera e Rae

3) hand driven rivets

g fRae

4) cold driven rivets

offa

Correct Answer: power driven field rivets

<1<k =T 8 Rae
Candidate Answer: power driven field rivets

<1feh =ferd & Rde

QID : 299 - The gross diameter of a rivet is the diameter of .

Rae 1 Tepet =T, T TG g1 &1

Options:
1) cold rivet before driving
=1 9 uga 2fid Rde
2) rivet after driving
e ggd e
3) rivet hole
e
4) None of these
EEI LG

Correct Answer: rivet after driving

e agTd Rae
Candidate Answer: rivet hole

Rae f&a

QID : 300 - Working shear stress on the gross area of a rivet as recommended by Indian Standards is .

R ATk <hl FATRIRST 3 SIgER RaT & Gl SFthel T Y SUFYOT Ufceret grar gl
Options:
1) 785 kg/cm?
785 fr.am. /. 2
2) 1025 kg/cm?
1025 fr.am./@.# 2
3) 2360 kg/cm?
2360 fon.am./&.# 2
4) None of the these
EEIEEG

Correct Answer: 1025 kg/cm?2
1025 fh.ar./d.# 2

Candidate Answer: [ NOT ANSWERED |

QID : 301 -
Select the related word/letters/number from the given alternatives.

Red : Colour :: French : ?

3 T Rreredt & & dafaa rea/srerl/dwn &t glhgl

AT ; 4T 2 it ?
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Options:

1) foreign
fagar

2) language
AT

3) European

4) Country
ar

Correct Answer: language
RN

Candidate Answer: language
“TT

QID : 302 -

Select the related word/letters/number from the given alternatives.

Chips : Potatoes :: Soda : ?

A M faeredt & @ Gaf-Aa e/ s1erl/ g & gyl

e : arre - GteT : ?
Options:

1) Fizz

i

2) Bottle

EIcE]

3) Lemon

4) Water

ot

Correct Answer: Water

Candidate Answer: Lemon

QID : 303 -

Select the related word/letters/number from the given alternatives.

Quadrilateral : Four :: ?

& T Rreredt & & dafaa ea/srerl/dwn &t glhgl

Tge AR ?
Options:
1) Cylinder : Circle
fafeier : 9o
2) Cube : Square
g : qif
3) Triangle : 180
1180
4) Hexagon : Six
Rt GRS
Correct Answer: Hexagon : Six
TS B8
Candidate Answer: Hexagon : Six
ARt SR
QID : 304 -

Select the related word/letters/number from the given alternatives.

FGI:HIK:STV:?
& T e A @ T rea/S1erl/dt &t gyl

FGI:HIK:STV:?
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Options:

1) UVW

2) VWY

3) XYz

4) UVX

Correct Answer: UVX

Candidate Answer: UVX

QID : 305 -

Select the related word/letters/number from the given alternatives.

Dream : Area :: Frame : ?

A M et & @ Gaf-Aa 2rsa/s1erl/ g & gyl

Dream : Area :: Frame : ?
Options:

1) Farmer

2) Ear

3) Fare

4) Freer

Correct Answer: Fare
Candidate Answer: Farmer

QID : 306 -

Select the related word/letters/number from the given alternatives.

Brine : Inert :: Beware : ?

3 T Rreredt # & dafFaa srea/srerl/dwn &t gfhgl

Brine : Inert :: Beware : ?
Options:

1) Arenas

2) Declare

3) Spare

4) Area

Correct Answer: Arenas

Candidate Answer: [ NOT ANSWERED |

QID : 307 -

Select the related word/letters/number from the given alternatives.

169:13::225:7?
A M et & @ Gaf-Aa e/ s1erl/ g & gyl

169:13::225:7?
Options:

1) 22

2) 25

3) 20

4)15

Correct Answer: 15
Candidate Answer: 15

QID : 308 -

Select the related word/letters/number from the given alternatives.

159:840::345:7?
R w2 fachedt A @ Jafa rea/sierl/dwem & gl

159:840::345:7
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Options:

1) 654

2) 765

3) 876

4) 987

Correct Answer: 654

Candidate Answer: [ NOT ANSWERED |

QID: 309 -
Select the related word/letters/number from the given alternatives.

761:928::651:?
A A et & @ GafAa wrea/s1eRl/ g & gyl

761:928 :651:?
Options:

1) 765

2) 753

3) 807

4) 951

Correct Answer: 807

Candidate Answer: 753

QID : 310 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

g 7T foremeut A & fawe e/ Srerl/ </ e g /S g &t gfg|

Options:
1) kilometres

2) feet
o<

3) grams
aH

4) micrometers

Correct Answer: grams
aH

Candidate Answer: grams
bt

QID : 311 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

&g Tq forenedt & @ fowm <res/ S1eRl/<ea/2es g/ <vear g &l gHgl
Options:

1) pros and cons

HeAT-gRT

2) dead or alive

Td a1 Shifaa

3) null and void
S1epd R 3T

4) sooner or later
37T 8Tt et

Correct Answer: null and void
31hd 3R L=
Candidate Answer: null and void

31cpel SR T

QID : 312 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

g Tq freneat & @ fawm <1eg/ 1eRl/<iea/res g/t g &l gyl
Options:
1) Crayon and Marker

3R AR

2) Pen and Eraser
U 3R TR

3) Book and Diary
foraTer ofik gy

4) Pen and Marker
O ofiR AR

Correct Answer: Book and Diary

forarer ofk st

Candidate Answer: Book and Diary

forarer ofik St

QID : 313 - Select the odd word/letters/number/word pair/number pair from the given alternatives.
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Options:
1) oU

2)YC
3) 1A

4) EO
Correct Answer: YC
Candidate Answer: EO

QID : 314 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

g 7T feremeut # & fawe s/ Srerl/ e/ e g /€ g &t gfg|

Options:
1) Cuisine

2) Business
E:Enie)

3) Disinterested
Jerefia

4) Noisiness

Correct Answer: Business
e craipy

Candidate Answer: Business
ey

QID : 315 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

g 7y faemedt & @ frwe <1/ s1eri/ e/ res g/ g &t gyl

Options:
1) DRGK

2) WMUI
3) OHAU

4) XHTV
Correct Answer: DRGK
Candidate Answer: [ NOT ANSWERED |

QID : 316 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

&g 7Tq forenedt & @ fowm <reg/ S1eRl/Tiea/es g/ g &l gyl

Options:
1) 7531

2) 2468
3)9753

4) 8642
Correct Answer: 2468
Candidate Answer: [ NOT ANSWERED ]

QID : 317 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

g g foremedt & fawe wrea/Srerl/ e/ rss g /€% g &t gfg|

Options:
1)15

2) 25

3)53

4) 45

Correct Answer: 53
Candidate Answer: 53

QID : 318 - Select the odd word/letters/number/word pair/number pair from the given alternatives.

&g 7Tq forenedt # @ fowm <res/ S18Rl/<ea/ Tes /e g &l gyl

Options:
1) 108,132

2) 114,156
3) 136, 152

4) 120,138
Correct Answer: 136, 152
Candidate Answer: [ NOT ANSWERED ]
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QID: 319 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

Cremation, Accolade, Maestro, Chrome, ?

e 3igeRd foa man 8, ford ues Q1ee/ Tk ug/ e T g 81 ey g fadhedt & @ ag 9t faehed g it srehH o g1 R

Cremation, Accolade, Maestro, Chrome, ?
Options:

1) Very

2) Zebra

3) Virtual

4) Time

Correct Answer: Zebra

Candidate Answer: [ NOT ANSWERED ]

QID: 320 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

Toxic, Icon, Onto, Tomorrow,?

Teh SeRH foa T 8, s g 21ee/Uek U/ Ue ST g &1 4y Y fenedt 7 @ ag el faeed gie St st mt gu

Toxic, Icon, Onto, Tomorrow, ?
Options:

1) Owl

2) Wet

3) Rat

4) Borrow

Correct Answer: Owl|

Candidate Answer: [ NOT ANSWERED ]

QID : 321 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

age, dire, genre, stumpy, ?

Teh S1geRH o T 8, Fored e wrse/ e Ue/ e Tt 4 g | Ry g farepedt A @ a5 w8t freed gAY St orged o g

age, dire, genre, stumpy, ?
Options:

1) splayed

2) secretes

3) preacher

4) shooed

Correct Answer: splayed
Candidate Answer: [ NOT ANSWERED ]

QID: 322 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

L,JHF?
Teh SeRH foa T B, s U rea/ Uk U/ Ue ST g &1 4y Y et 7 @ 9 el faeed gie St st mt gu

LJHFE?

Options:

1)E

2)G

3)D

4)1

Correct Answer: D
Candidate Answer: D
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QID : 323 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

eca, fdb, gec, hfd, ?
Ueh SFgERH o 1T B, T e S/ Uk U/ Ueh e e &1 Ry 1Y fidedt A @ @ wel e g ot SR g AR

eca, fdb, gec, hfd, ?

Options:

1)ige

2) ieg

3) gei

4) egi

Correct Answer: ige

Candidate Answer: [ NOT ANSWERED ]

QID: 324 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

XXXX0OXO, XXXX0O0X, XXXX00X, XXX0OX0X, ?
Qe 1ehH foa ma B, fored U 2rea/Ueh U /U ST W &1 iy e et 7 @ ag el faeed g St srgeed mt gm |

XXXX0XO, XXXX00X, XXXX00X, XXXOXO0X, ?
Options:

1) XOXXOXX

2) XXXXOX0

3) XXXX00X

4) XXOXXOX

Correct Answer: XXOXX0X
Candidate Answer: [ NOT ANSWERED |

QID : 325 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

-2,1,5,?,16
Teh STehd f&ar T 8, e Qo 1ea/Qeh Ue/ Qe ST g &1 4y Y fenedt 7 @ a5 el fashed g St s mt [m |

-2,1,5,?,16

Options:

19

2)10

3) 11

4)13

Correct Answer: 10
Candidate Answer: 10

QID : 326 -
In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.

-10/3,7?,-2/3,2/3,2
Ueh 1eRH foa T B, s U 2rea/Ueh U /U ST W &1 iy e et 7 @ ag el faeed gfe St srgeRd mt qm |

-10/3,7,-2/3,2/3, 2

Options:

1)-2

2)2

3)-1/3

4)1/3

Correct Answer: -2

Candidate Answer: [ NOT ANSWERED |
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QID : 327 - In the given series one word/one term/one number is missing. Select the correct alternative from the given ones that will complete the series.
23,29,7,37,41

Teh SIehH o T &, frad ek S1ee/Ueh Ue/Ueh Tt o &1 Y 1Y ferehed! & @ a8 wg) Rrehed T it o1 ot g e
optons:

1) 30

2)33

3)31

4) 35
Correct Answer: 31
Candidate Answer: 31

QID : 328 -
If a<b,d>cand a < d, which of the following is true?

l.Lb<c
ll.c>a

gk a<b,d>c3fRa<d d F=ffead d wm g §?

l.Lb<c
Il.c>a
Options:
1) Only |
haet |

2) Neither I nor Il
Al A

3) Only I

Fae Il

4) Both land Il
TR I

Correct Answer: Neither | nor Il

qrarl g

Candidate Answer: Neither | nor Il
ararl g

QID : 329 - The weights of five boxes are 10, 30, 40, 70 & 70 kilograms. Which of the following cannot be the total weight (in kilograms) of any combination of these
boxes?
uie st & aeiH 10, 30, 40, 70 3R 70 foretam &1 Fet & foneft oft Sate a1 gt aor (fehertom ) fferfaa & @ o a1 781 8) weram?

Options:
1) 190
2) 180
3) 210
4) 200

Correct Answer: 200
Candidate Answer: [ NOT ANSWERED ]

QID : 330 - If the letters Q, B, T, A, U, E & N are numbered 1, 2, 3, 4, 5, 6 & 7 respectively. Select that combination of numbers so that letters arranged accordingly, form
a meaningful word.

38R Q, B, T, A, U, E 3R N srasr Tt 1, 2, 3, 4, 5,6 31R 7 &l HafRid ad &1 Seansil & Sf<a T4t i g1 dlich S&eh S8R 38R ol AR s TR STyl 2eg a1

Options:
1) 5617312

2) 5447134
3) 2471563

4) 3242637

Correct Answer: 2471563

Candidate Answer: 2471563

QID : 331 - If PROXIMAL is coded as KILCRNZO, then how will WHY be coded as?

Tfe PROXIMAL &t foheft ale & KILCRNZO forar sirar &, af WHY @t 3t epts & et forar siram?

Options:
1) DSB

2) EDC
3) CDE

4) BNM
Correct Answer: DSB
Candidate Answer: DSB
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QID : 332 - In a certain code language, 531 means 'boy is shy', 346 means 'girl is bold', 256 means 'shy or bold'. Find the code for 'or".

fonelt epYe e H, 531 o1 37 'boy is shy' &, 346 @1 31%f 'girl is bold' &, 256 @1 372 'shy or bold' &1 'or' &7 &hls AT &2
Options:

1)1

2)2

3)3

45
Correct Answer: 2
Candidate Answer: 2

QID: 333 -

In a certain code language, '+ represents 'x,, - represents '+, 'x' represents '+' and '+' represents -'. Find out the answer to the following question.

0.1+500-240x6="7

et opYs wToT B, '+ BT Haerd X' §, - T Adeld '+ §, 'X' &l Adeld '+ § 3R '+ &1 Adad - g1 =faf&a us &1 IR I AR

0.1+500-240x6 =2
Options:

1) 90

2)10

3)1.25

4) 108

Correct Answer: 90
Candidate Answer: 90

QID : 334 - If A @ B means A is father of B, A # B means A is sister of B and A! B means A is son of B, then what does E @ F ! G # H mean, if H is a male?

TRA@BH AT ETHFABH UM, A#BH AT EHA BRI T MRA!IBH I SHABH S AE@F ! G # Hawrar ard g afe H g v 87

Options:

1) H is brother of E

H Ewr g g

2) H is father of E
H,E@ farg

3) His son of E
HE®gIE

4) H is E's wife's brother
H, E Y aeefy bt orré &

Correct Answer: H is E's wife's brother
H, E & gt o1 7S &

Candidate Answer: H is E's wife's brother
H,Edl gt e uig @
QID : 335 - If 45@23 = 14, 76@22 = 17, then find the value of 55@10 = ?

af 45@23 = 14, 76@22 = 17, @t 55@10 &1 711 A4 Hiford?

Options:
1)8

2) 11
3)15

45
Correct Answer: 11
Candidate Answer: [ NOT ANSWERED |

QID: 336 -
Which of the following words follow the trend of the given list?

Zonal, Tzars, Wizen, Seize, Waltz, ?

frfaEa & @ o a7 2reg § it Gt A ugfRy T srgeRvor A 82

Zonal, Tzars, Wizen, Seize, Waltz, ?
Options:

1) Unitize

2) Ablaze

3) Azure

4) Sanza
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Correct Answer: Unitize
Candidate Answer: [ NOT ANSWERED |

QID : 337 -
Which of the following terms follows the trend of the given list?

ABC, BCAB, CABCA,
frfeea & & e a1 ue & Tt et & ugiRy T STgeRtur ad 82

ABC, BCAB, CABCA,
Options:

1) BCABCA

2) CABCAB

3) ABCCBA

4) ABCABC

Correct Answer: ABCABC

Candidate Answer: BCABCA

QID : 338 - A girl walks 3 km East starting from her home. She then turns South and walks 2 km, then she turns West and walks 7 km, then she turns to her right and
walks 2 km. Where is she now from her starting position?

e ST 3T TR 8 TR deh 3 .7, g & ik et §1 i g fayor iy ofik gane 2 5.7, Tcwt &, fihr ag uffys i ok geane 7 .. Tercht 8, fthe a8 srom afest ok gsam 2
5., Tercht 81 URfYes R @ o1 9 el )R 8?2

Options:

1) 10 km to the West from her home.

IG%h R 10 fr . ufgw &

2) 4 km to the East from her home.
S R 4 6. o &

3) 10 km to the East from her home.
I TR Y 10 fn. 7. gd i ok

4) 4 km to the West from her home.
Iq% R G 4 R uffm i ik

Correct Answer: 4 km to the West from her home.

I9F R Y 4 {1, uffm Hir ik

Candidate Answer: 4 km to the West from her home.

IS R A 4 {5 afgm i ek

QID : 339 - A is standing 6 m to the East of B. A walks 9 m South, then turns to his right and walks 7 m. At the same time, B has walked 3 m West, then he turned
South and walked 9 m, then he turned to his left and walked 5 m. Where is B now with respect to the position of A?

A B gd # 6 Hicx &l g R @ST &1 A, 9 Hiex af&ior &t 3R =etal & 3R R 3ru= 31fe SfR qgane 7 Hier Ieran &1 ¢ ¥Ha B, 3 Hiex uffjA & 3R <reran g, fOhr afaior &t ek geaw 9
Hiex Teran & ofR fORR ag oo a1 SR qeae 5 Hiex Ierar &1 A &l ffy & 9@ B svgf R 8?2
Options:

1) Bis 12 m to the East of A

BAGUdH 12l Arghi @

2) Bis 3 mto the West of A

BAFugHA3fler g e

3) Bis 3 mto the East of A

BAGTdAZ AR M@ Mg we

4) Bis 12 m to the West of A

BAFUIAA 12 iR AT W e

Correct Answer: B is 3 m to the East of A

BAGTHAIHRAIGAAIGIRE

Candidate Answer: [ NOT ANSWERED ]

QID : 340 -

In the question two statements are given, followed by two conclusions, | and . You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the mentioned statements.

Statement 1: All huts are made of mud.
Statement 2: Things made of mud are not strong.

Conclusion I: All huts are strong.
Conclusion II: Mud huts are not strong.

T 7 &t s R T € fSaeh ot &t e | & |1 FepTet TR €1 3Taen! AT & o @Y e O € TTg ag ST i a2t @ O gl g1 gt emuent Mot e @ 6 Ry mw fRreenst
7 @ aF-a1/wH-8 RAffa 0 ey gRT 98 e S Gehdr &/3d &, afe i gl

®Y 1: gt Fufeat g @ o+t &)
Y 2: g & ot g2 S off <fiet woree 7 g

frsened 1: Toft siufeat Aoy 81
Freeef 11: ) @ &t g& Sufsat weree 781 81
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Options:

1) Only conclusion | follows
Fae e | 98t 3

2) Either | or Il follows

a1 dt ey | wEt & ar af fsend |1
3) Neither | nor Il follows

1t freene | Tt & A g1 frend |

4) Only conclusion Il follows

had ey | Tt &1

Correct Answer: Only conclusion Il follows
et frene |1 TE &1

Candidate Answer: Only conclusion Il follows
e frsend |1 gt &1

QID : 341 - In the question a statement is given, followed by two arguments, | and Il. You have to consider the statement to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should teachers be permitted to cane unruly children?

Argument | : No, this will teach them that physical violence is an acceptable means of social behaviour.

Argument Il : Yes, children taught in a strict atmosphere are more successful.

o B gy 5 man & fSad omit €t ah | & |1 T 2 &1 Simueh! |1 & O e 9 § 18 98 e I adt & O udia g 811 smuent fofa s & i Ry g ahl A § -

1/HH-8 de Aeigd &, afe i gl
HYA: T I Sl & g fR1erent St 1 uahT e i gAY & fRg?

ah | : 78T, 399 3 ug e el i amiRes féar amnfSie eraer & srga 81
ah |l : g, % arareror # RAfdd a= $ifies awa gid 81

Options:

1) only argument Il is strong

haet dh |1 FoTge &

2) neither argument | nor Il is strong

A TR | SRAH TH | AT &

3) both argument | and Il are strong

ST e | 3R || woTeg &
4) only argument | is strong

had a | AeTgd &

Correct Answer: only argument | is strong
had e | TI9Ted &

Candidate Answer: only argument Il is strong

et ach || FeTgd &

QID : 342 -
Which of the following cube in the answer figure cannot be made based
on the unfolded cube in the question figure?

PR sl A s Rear ma sl d dga o
B T A A
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X
L —
=

,//

Correct Answer:

/'/+\

QID : 343 -
Which of the following answer figure patterns can be combined to make
the question figure?

Frfafla ser wgpfa & @ # ¥ ol @ Sigw R v A wgl
F Tl ST T 87

b i § gt
gﬂf”ﬂ ine
3

e
15 g

Candidate Answer: [ NOT ANSWERED |

QID : 344 - Which of the following diagrams represent the relationship between Engineers, Software Engineers and Chemical Engineers?

e # @ i & e eiiieR, HioedeR iR ok e el & s e geriar 82
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& . n O :.%
O @

Correct Answer:

O O

©

Candidate Answer:

O O

=]

o

w

5

o
\

In the following figure, square represents engineers, triangle
represents environmentalists, circle represents lawyers and
rectangle represents government officers. Which set of letters
represents lawyers who are not environmentalists and government

officers who are engineers?

frrfofim wga # ot St quffar 8, P oot
& qufer &, g ot @ qufer ¢ o g wh et
gl §) avit &1 #F T FHg TR A ia dA ety
78 & 3t e wfted & S §2

A

A | NG

Options:
1)E,FandB
E F3RB
2) A EandF
A ESRF
3)B,Aand E
B, ASRE
4)G,Fand A
G, F3fRA

Correct Answer: G, F and A
G,FafiRA

Candidate Answer: G, F and A
G, F3RA
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QID : 346 -
Which answer figure will complete the pattern in the question figure?

fAfaf@a # @ Fla-dr sew IFfa wa R F sfaws & qu e

Options:

1)

N2

/

B
Z< '

Correct Answer:

X

Candidate Answer:

QID : 347 -
From the given answer figures, select the one in which the
question figure is hidden/embedded.

amm}mﬂ#maﬁﬁﬁwm
i el Al g
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Options:
1)

2)

Correct Answer:

I
L~
-

o

andidate Answer:

JANIAN
LY

e

QID : 348 -

A piece of paper is folded and punched as shown below in
the question figures. From the given answer figures, indicate
how it will appear when opened.

v At # Ram saer FEE # A SE o
T @i F a1 ag T Ieod HPTo Shar g e

Options:
1)

avpa
g
T AL

2

Ap f,_\.é

Ap a8
3)
4
ﬂb v
Ay D
<
4)

&

Dy
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Correct Answer:

»’:zvf_\

B

VAP

Candidate Answer:

>4
—f -\Jv
S

<

QID:349-
If a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure?
afg o gdor Fr MN T@r 9T w@r e ar & w8
Seat et & F FA-W IR T
1 wer wiafaes gaf?

i
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QID: 350 -
Aword is represented by only one set of numbers as given in any one of the alternatives, The setsof
numbers givenin the aiternatives are represented by two dlasses of alphabets as shown in the given two
matrices. The columns and rows of Matric-1 are numbered from 0to4 and that of Matrix-Il are
numbered from5 to 9. Aletter from these matrices can be represented first by is row and next by its

column, forexample 'N' can be represented by 00, 12 etcand 'C’ can be represented by 95, 76 ete.
Simitarhy, you have to identify the set for the word 'TYRES".

UF W Fad O WEALGHE qar g g, st s Reedt & & BRh oo & R
B Rswedt # Ru v searadg s & & @it gaw gafe o 8, S B Ry e
HRAE! A B 3eEl F T R dRa S E R 0 ¥4 IR ARl A5y o b =
HIEUET § W HaW BT UFA 3N 0fFd R A # T wE Z@wn gy S e B
FZERW & AT W & 00, 12 W @R i 31 Fwar k@ © 95, 76 W g@w
zafrr 3w B R Gt @ HUEY v F BT we TYRES' & AU FHF 1 ugaE B

MATRIX ~ | MATRIX -1l

IR - | ITEE - Il
ol1l2]a]a s/ 6|7 ]8]s
o [n|lv r|r|w s|s]r1]ele].
1 X T N ¥ v 6 G G A L 1
2|z]lerls|x]a r|rlc]s|x]o
3jlulzlx|wlu s |e[m|k|ilH
a[v|vir|n]|r 9 Jcli]elalce

Options:

1) 21,40,04,69,01
2) 12,13,41,55,69
3) 11,41,44,85,22
4) 31,01,65,58,41

Correct Answer: 11,41,44,85,22
Candidate Answer: 11,41,44,85,22

QID : 351 - Which of the following is not a part of the human stomach?

fRfafad & @ &9 qg STHIRME 1 9T T8l &7

Options:
1) cardiac

g

2) caecum
ST

3) fundic
wEg

4) pyloric
STt

Correct Answer: caecum
STYATT

Candidate Answer: cardiac
ged
QID : 352 - Which of the following white blood cells is a type of agranulocytes?

fFr=fafad 3 9 o oY 29 3feR wforer, /T FifRiwr Ht Th UaR &2
Options:
1) neutrophils
(g et
2) eosinophils
5
3) lymphocytes
forRiaTgeT
4) basophils
SR
Correct Answer: lymphocytes
Candidate Answer: [ NOT ANSWERED ]

QID : 353 - Which of the following is an insectivorous plant?

fAafafad & § &9 a1 Hrergr drar 82
Options:

1) Pitcher

geguft

2) Alstonia

gyl STel (TeweiAam)

3) Calotropis

Eiraie

4) Eichhornia
SR
Correct Answer: Pitcher

Candidate Answer: [ NOT ANSWERED ]
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QID : 354 - Which of the following represents the correct pathway of water movement in the root?

fafafEa & § 9 Sie § Se1 & fd a1 uer gaifar 82

Options:

1) Epidermis > Endodermis > Cortex > Pericycle > Xylem

sy > Treisfia > sidey > uResr > Sgem

2) Epidermis > Pericycle > Endodermis > Cortex > Xylem
> i > Grersfify > siday > Sgem

3) Epidermis > Cortex > Endodermis > Pericycle > Xylem
> i > TrelSiiy > UResT > Sgaq

4) Epidermis > Pericycle > Cortex > Endodermis > Xylem

gfrsfia > i > i > Tt > Sgem

Correct Answer: Epidermis > Cortex > Endodermis > Pericycle > Xylem

UiUefie > aiEa > grersiy > aRey > SEem

Candidate Answer: [ NOT ANSWERED ]

QID : 355 - Consider the following pairs.

Name : Formula

1] 2-Bromopropane : (CH3),C=CHCOCHj3
2] Propan-1-amine : CH3~CH,—CHo—NH,
3] Dichloromethane : CH,Cl,

4] 4-Methylpent-3-en-2-one : CH3-CHBr-CH3

Which of the above pairs are correctly matched?
frfafea Siel R ffeR &

aHgT

1] 2-sIHYEE : (CH3),C=CHCOCH3

2] 9t9=-1-84 : CH3~CHy~CHo—NH,

3] SIEEIRME : CH,Cly
4]4-3fderde-3-§9-2-3117 : CH3-CHBr-CHs

SWRI<H A & I F Sie! @l fAaH @8l 62

Options:

1) 1 and 4 only
dad 1 3R 4
2) 3 and 4 only
had 3 3k 4
3) 2and 3 only
Faa 2 8k 3

4) 2,3 and 4 only
%had 2, 3 3R 4

Correct Answer: 2 and 3 only

Shad 2 3R 3
Candidate Answer: [ NOT ANSWERED |

QID : 356 - What is the IUPAC name of Allyl bromide?

QiR TS T oIS, . Q.. =T &Ram 87
Options:
1) Dichloromethane
2) Tetrachloromethane
e
3) 2-Chlorobutane
2-

4) 3-Bromopropene
3_

Correct Answer: 3-Bromopropene

3-

Candidate Answer: 3-Bromopropene
3-

QID : 357 - Formula for Hexamethylene diamine is

AT STgeH o1 g7 T 87
Options:
1) NH»(CH3)4NH,

2) NH,(CHy)gNH,
3) NH,(CHy)3NH,

4) NH5(CHp),NH,
Correct Answer: NH,(CH)gNH,
Candidate Answer: NH,(CH5)gNH,
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QID : 358 - Which of the following elements is the most electronegative?

frfafea & & fhg aa & faga FomcTenar ga S1fde gidt 82

Options:
1) Aluminium

2) Boron

3) Gallium

Aferaw

4) Thallium

Ao

Co:rect Answer: Boron

Candidate Answer: [ NOT ANSWERED |

QID : 359 - Which HTML tag is used to make a text bold?

forT T EY.U\. T, 9T T IUTNT e ahl siies S & forg fohar 1T 82
Options:

1) <body>

2) <b>

3) <br>

4) None of these

T & Y Tt

Correct Answer: <b>
Candidate Answer: [ NOT ANSWERED ]

QID : 360 - To easily access commonly used commands and tools in a word processor use the bar.

< TR # 31 R WR IUTIT & 1 ST aTet 1S SR gl deh Ugd S S & forg foRe aR a1 Ui gtar &2

Options:
1) Home

2) Title
aged
3) Menu

4) Tool

[

Correct Answer: Tool
[

Candidate Answer: Tool

[

QID : 361 - Hareli is the harvest festival of which state?

Belt fohd 5T & Rl T BR 87

Options:

1) Assam

_Haq

2) Andhra Pradesh
STy

3) Himachal Pradesh
fowTae uer

4) Chhattisgarh
BieTe

Correct Answer: Chhattisgarh
SieTe
Candidate Answer: [ NOT ANSWERED |

QID : 362 - In October 2016, who was sacked as the Chairman of the Tata Sons?

SEER 2016 H 5 2TeT T & IERA UG § SRR foha mar?
Options:

1) Ratan Tata

Xd- dIer

2) Narayan Murthy

ARTA0T HfF

3) Cyrus Mistry

15 el

4) Vishal Sikka

IERICH

Correct Answer: Cyrus Mistry
3R st

Candidate Answer: Cyrus Mistry
BISGATTC]

QID : 363 - Which of the following scientists demonstrated that fermentation is caused by the growth of micro-organisms?
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Options:

1) Edmund Becquerel
USHS Sl

2) Dmitri Mendeleev
SHfifx Adefim

3) Louis Pasteur
S UTER

4) Joseph Priestley
ST et

Correct Answer: Louis Pasteur
T TR

Candidate Answer: Louis Pasteur
T TR

QID : 364 - The line consisting of all the bundles which cost exactly equal to the consumer's income is called the line.

O ¥ e goft deat anfAet g it R Iusiihr 6t 3 & et sRTeR &, a8 3@ T shgerdt 82

Options:
1) demand
HIT

2) utility
Iufirar

3) budget
EN[
4) indifference

Correct Answer: budget
B

Candidate Answer: [ NOT ANSWERED ]

QID : 365 - The area under the short run cost curve up to any level of output gives us the total variable cost up to that level.

RTEAH ____ AT dsh oh 31ax T Sthed et b fohel} oft TR aeh &6 39 TR ak o foIg gpet uRkadf amra dar 1

Options:
1) average

2) marginal
3) total
4) variable

Correct Answer: marginal

Candidate Answer: [ NOT ANSWERED ]

QID : 366 - If price of an article decreases from Rs 60 to Rs 50, when quantity demanded increases from 1,000 units to 1,200 units. Find point elasticity of demand.

g foreft ag it FTa 60 T0F & T 50 FUF g ST § ST HivT <l AT 1,000 Forrs § Sgans 1,200 FeTS Sielt &1 7 oAl @t fofg 31 sl

Options:
1)1

2)-1.2
3)-1

412
Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]

QID : 367 - Which ratio is the proportion of the total deposits commercial banks keep as reserves?

AT deh 3TUT get STHT T STt U SRfE AT & €9 3 3@ §, I8 i a1 3rguTd gl S 82

Options:
1) Cash Reserve
SIRFEY Tehe
2) currency deposit

et S
3) Reserve deposit

STHT

4) Statutory Liquidity
nfafdres aRerar
Correct Answer: Reserve deposit
STRfET s

Candidate Answer: Statutory Liquidity
AReTdl

QID : 368 - Gross Domestic Product + Net factor income from abroad =

Ferel TR, IS + faart & v fAaer ehres o1 =
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Options:
1) Personal income
Jafhe s

2) Personal Disposable Income
ki)
3) Gross National Product
Topdt TET IATG
4) Net National Product at factor cost
PR AT WR gt TR It
Correct Answer: Gross National Product
Hohel AL IS

Candidate Answer: Net National Product at factor cost
PR AN R FAaer IR IS

QID : 369 - Which of the following metals is not used as a catalyst in catalytic converts fitted in automobiles?

frfafEa & & fra arg o1 ITaRT argHi & IURe URadcs # SciRes & &4 & TAIT g1 fohaT Srar?

Options:
1) Platinum

2) Polonium
qrentfe

3) Rhodium
AfeTm

4) Palladium

Tafeam

Correct Answer: Polonium

Candidate Answer: [ NOT ANSWERED ]

QID : 370 - Bio-maghnification is well established for which of the following pollutants?

g sae (SR thee) fFfafea F @ g fadet uaref & forg gfafda 82
Options:

1) zinc

fSiep ()

2) mercury

URT

3) copper

GiEll

4) nickel

Repet

Correct Answer: mercury
EIN

Candidate Answer: mercury
URT

QID : 371 - All changes in climate and weather take place in which layer of the atmosphere?

Seraryg R Haw & g7 aret +ff uRads argree i fhg dxr d gid €2

Options:

1) Stratosphere
FHATTHS

2) Mesosphere
AHS

3) Thermosphere
AT (

4) Troposphere
effEe

Correct Answer: Troposphere
efforrise

Candidate Answer: Troposphere
s

QID : 372 - Which type of electromagnetic radiation converts oxygen into ozone?

T TR a1 feregd Traehig faifencor siferdie ot siteiier & uRafda e a1 &2
Options:

1) Gamma rays

T foRet

2) Cosmic rays

e foRzor

3) Infra-red rays

3T foRvot

4) Ultra-violet rays

QRIS feRvot

Correct Answer: Ultra-violet rays

Candidate Answer: Ultra-violet rays
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QID : 373 - Jan Koum is the cofounder of which startup?

S G fohd WIESTY T TEHTATIR 72

Options:
1) Microsoft
ATSEhIATTE

2) Google
by
3) Facebook

4) WhatsApp
Correct Answer: WhatsApp

2\

Candidate Answer: [ NOT ANSWERED |

QID : 374 - With reference to the interior of the earth consider the following statements.

1] Body waves are generated due to the release of energy at the focus.
2] The denser the material, the lower is the velocity of the Earthquake waves.
3] There are two types of body waves. They are called P and S-waves.

Which of the statements given above is / are correct?
geeft Y SriaRes WA & Feof § Fmafafad wmemi R AR &R

1] sgmife¥er o IgH e @ Ii & ek g1 o R TaT gl &1
2] 1fde =TT aTet TaTA # Jehy a1 ST A I B |
3] oifefen a1 &) eRR it gt &1 3% oY ofk T < ahgt ST &1

T8 § BT T1/F BT TE1 87

Options:
1) 1 and 2 only
Fae 1 9k 2

2) 2 and 3 only
Fae 2 3R 3
3) 3only
&I 3

4) 1 and 3 only
Fae 1R 3

Correct Answer: 1 and 3 only
Faet 19k 3

Candidate Answer: [ NOT ANSWERED ]

QID : 375 - Which of the following is a major tectonic plate?

fFefafEa 7 @ o o e RadfRd we @2
Options:

1) Cocos plate

PIRY e

2) Arabian plate

IRfTTH e

3) Pacific plate

RG]

4) Nazca plate

SRl

Correct Answer: Pacific plate
uerd we

Candidate Answer: [ NOT ANSWERED |

QID : 376 - The mean distance between the Sun and the Earth is approximately .

T ofk geeft Y mezm gt Afamed: 2l
Options:

1) 99.6 Million Km

9 FIE 96 i fh.=h.

2) 49.6 Million Km

4 T30 96 g foh. .

3) 149.6 Million Km

14 1€ 96 ARG fop.#t.

4) 199.6 Million Km

19 IS 96 ARG fop.#ft.

Correct Answer: 149.6 Million Km
14 Fg 96 g foh Y.

Candidate Answer: [ NOT ANSWERED |

QID : 377 - The process by which soil deposits through compaction turn into rocks is called .

Tg ufehar foaeh gr1 G uere St § uRafda 8 oI € i srgerr 22
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Options:

1) lithification
fRreftore

2) Metamorphication
HITARTT

3) Slatification
i

4) Petrification
AT

Correct Answer: lithification

e
Candidate Answer: [ NOT ANSWERED |

QID : 378 - The Rabi cropping season is from .

Toft et it srafdy gt &2
Options:

1) April = June

S @ S

2) June - September

A 9 RdeR

3) May - August

g ¥ 3T

4) October — March

STER & AT

Correct Answer: October — March
SR G A

Candidate Answer: October — March

SRR G A

QID : 379 - With reference to India's freedom struggle consider the following statements.

1] Gandhiji's first major public appearance was at the opening of the Banaras Hindu University (BHU) in February 1916.
2] During the Great War of 1914-18, the French had instituted censorship of the press and permitted detention without trial.
3] Jallianwala Bagh massacre took place in Amritsar in April 1919.

Which of the statements given above is / are correct?
YR & WaAdl 9oy & T § fmfafed syl R R &

1] wiefsft & ugelt Ayl A Sufedfa tRadt 1916 # sy fo=g fasyfaenera & Igre TIRig A g5
2] 1914-18 & AgH gg o &1 Thd = U UR Ufysier o foam o ofk o S & ahRramer &y ergafa & & ot
3] siferatarett ST gTehis 1919 F Syaer d garm

0 @ &I 91/ HUT Fal 82

Options:
1) 1 and 2 only
ad 18R 2

2) 2 and 3 only
had 2 3R 3

3) 3only
%had 3

4) 1 and 3 only
dhaa 19k 3

Correct Answer: 1 and 3 only

Shad 1 3R 3
Candidate Answer: [ NOT ANSWERED |

QID : 380 - By the sixth century BC, had established control over major parts of the Assyrian empire.

B! e AT yd as ____ F srefifar & ararsy 3 Srfieniar 9T wR o T wenfia o o o
Options:

1) Iranians

2) Greeks

3) Romans

RLE

4) Mongols

e

Correct Answer: Iranians

Candidate Answer: [ NOT ANSWERED |

QID : 381 - Asoka, arguably the most famous ruler of early India, conquered , present-day coastal Orissa.

312Meh T STRINh TR T TN Mk HIHT S Tehal &, gl ___ acdaT & I IS o= faerg vme &y off
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Options:
1) Pataliputra

2) Prayaga
T

3) Taxila
GEIREH

4) Kalinga
fciT
Correct Answer: Kalinga

Candidate Answer: Kalinga
HferT

QID : 382 - |bn Battuta was a who wrote about his travels to India in the fourteenth century.

S I __ 1 i o, o egd raredt # St vRa am & R # forar o
Options:

1) Persian

2) Egyptian

HEeC

3) Turk

4) Moroccan
Correct Answer: Moroccan

Candidate Answer: Persian

QID : 383 - One of the earliest Bhakti movements were led by the Nayanars, who were devotees of .

TG iRk Srelerl § & U TR & Age A gan s 3 vk A
Options:

1) Shiva

R

2) Vishnu

3) Surya
o

4) Brahma

ERSU

Correct Answer: Shiva
g

Candidate Answer: Vishnu

QID : 384 - Phonograph was invented by which scientist?

RIFTITG &1 Sifasenr forg damnf=ies = fomar om?
Options:

1) Alexander Graham Bell

Qeerstver TEgH

2) Thomas Edison

ATAY TSI

3) Jagadish Chandra Bose

TG T S

4) George Eastman

Sifet §eds

Correct Answer: Thomas Edison
ATAY TSI

Candidate Answer: George Eastman

Sifef $wei
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QID : 385 - Consider the following pairs.

Event : Time interval (in Seconds)

1] Period of atomic vibrations : 10715

2] Period of radio wave : 10

3] Travel time for light from Sun to Earth : 10°
4] Revolution period of the moon : 1010

Which of the above pairs are correctly matched?
ffafea Siel R feeR &

AT : IHY R (Yehvs H)

1] WAV ST e STardeRrer: 10710

2] f&a a1 et SradiehTer : 1076

3] v & g @ gt qeh S & e g ;108
4] =g 1 uReRHOT &ret : 1010

SR & T S T SiiS! & AT T8t 82

Options:
1) 1 and 4 only
Fhae 1 3R 4

2) 1 and 2 only
Faer 1 8k 2

3) 2 and 3 only

Fae 2 3R 3

4) 2,3 and 4 only

%haer 2,3 3R 4

Correct Answer: 1 and 2 only
Fae 18R 2

Candidate Answer: [ NOT ANSWERED ]

QID : 386 - The correct expression for the time period (T) of a particle of mass (m) performing Simple Harmonic Motion, where k is a constant, is

TR 3T T A aTet (M) ST & HoT 3R SHTadentet (T) & st IR e am &2 Tet k fRiw 81
Options:

1) T = 2rv(k/m)

2) T = 2n(m/k)>2

3) T = 2n(k/m)?

4) T = 2rv(m/k)

Correct Answer: T = 2rv(m/k)

Candidate Answer: [ NOT ANSWERED ]

QID : 387 - Who has a wavelength range of 700 nm to 400 nm?

foraeht aemeed Y T 700 nm & 400 nm T gt 87
Options:

1) X-Rays

X - forot

2) Visible light

3T TRl

3) Microwaves

geH adt

4) Radio waves
e T4

Correct Answer: Visible light
T UhIA

Candidate Answer: [ NOT ANSWERED ]

QID : 388 - How far should the object be placed from a concave mirror of focal length 4.8 cm, when the image is to be obtained at a distance of 12 cm from the
mirror?

4.8 .70, Wiend g aTet Sraad T § g i fohail g R T STQ i Ufafeie gvor @ 12 &+t i gt ur ured e g2

Options:
1)8cm
8 q.uf.

2)10cm
10 9.4,

3)12cm
12 3.+

4)15cm
15 9.7,

Correct Answer: 8 cm

8 q.4t.
Candidate Answer: [ NOT ANSWERED ]

QID : 389 - The Institution of the Speaker and his role of the Indian Constitution are borrowed from the constitution.

IR dfder & fenfer & srezer o1 g ok IR Yffiehr _ dfde @ ot it &)
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Options:

1) British
fafesr

2) French
i

3) Irish
RRAS

4) Canadian
EEIS

Correct Answer: British
fafesr

Candidate Answer: [ NOT ANSWERED ]

QID : 390 - Which of the following is a characteristic of a Proportional Representation system?

Frfafea & & o 3 fastvar gagufaes ufafAfa e 8?2

Options:
1) The country is divided into small geographical units called constituencies or districts
R 227 I BIE- BIE iR 3eRrsal | Fie 3 & O frafem & a1 o g €
2) Candidate who wins the election may not get ma]orlty (50%+1) votes
oot Inficar &t Tt 781 foh atel a1 agAd (50%+1) et
3) A party may get more seats than votes in the legislature
I UT gl & SUTd ¥ S1fdes a1 e Hie fenfienT & fet wedt 82
4) Every party gets seats in the legislature in proportion to the percentage of votes that it gets
B UTEl ol UTed 7 & SruTa | faenfienr & e gmi¥e giedt &2
Correct Answer: Every party gets seats in the legislature in proportion to the percentage of votes that it gets
&R UTél ot U 7 & Ut # faenfienr & gt &2
Candldate Answer: The country is divided into small geographical units called constituencies or districts
R 2 i BIE- B ofiferes goEal  afe 3 & 59 Pafem &= a1 e e &1

QID : 391 - Which of the following is false with reference to Presidential type of executive?

fFafafad 3 @ o a1 sreencas riuTfereT & R & Teof # s 82

Options:

1) President is the head of the Government

Ayufd TRFR AT UHE g1 §

2) President is head of the state

AP 27 A T BT &

3) The President is usually directly elected by the people
1 TG ATHAR TR VgeT HaeH & g1 g

4) President is accountable to the Legislature

ey fenfier & ufa Saeg giar g

Correct Answer: President is accountable to the Legislature

Jgufd et & ufa Sameeg gt @

Candidate Answer: The President is usually directly elected by the people
T AT ATHAR TR Y& FAaGH

QID : 392 - Which of the following subjects is included in the Concurrent List?

frafafea 5 & o ar fava gaad gt & amfaa 82

Options:
1) Banking
EIcl

2) Trade Unions
AR g9
3) Agriculture

4) Police

Correct Answer: Trade Unions
AR Y
Candidate Answer: Trade Unions

TR T

QID : 393 - Independence of Judiciary means all of the following, except

grauferet i Tawar o1 o mffIa A d _ wl sfea aftglar i
Options:
1) Executive must not restrain the functioning of the judiciary
ATAUTTeTeRT & RIAT # fRl AR <Al &TeT -1 UgaTqg
2) Legislature should not interfere with the decision of the judiciary.
SiT-Rrefent =mardiferet & fFofat & geasiu 7 &
3) Absence of accountability
EagcRic)
4) Judges must be able to perform their functions without fear
=rareftar fT o7 & ST e R T

Correct Answer: Absence of accountability
I STHIT

Candidate Answer: Absence of accountability
T AT
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QID : 394 - Jwala Gutta is associated with which sport?

ATl TTeT fohd | & Heifla 82

Options:
1) Wrestling

Pt
2) Boxing

3) Badminton

Fefiiea

4) Weight Lifting

Je fafwé

Correct Answer: Badminton

Candidate Answer: Badminton

QID : 395 - Who wrote the novel "Angels & Demons"?

"oy U 99" SuITY fohgm forar ar?

Options:

1) Dan Brown

R EIRE]

2) Jonathan Swift
ST fRue

3) Daniel Defoe

ST Swr

4) William Shakespeare
faferm Seadir

Correct Answer: Dan Brown
&S

Candidate Answer: [ NOT ANSWERED ]

QID : 396 - Over two-thirds of all named species on earth are

T &t fareTs Sfa geft R H

Options:
1) Porifera
qHfRERT

2) Arthopods

areffater

3) Aschelminthes
=

4) Ctenophora
EATRRT

Correct Answer: Arthopods
31

Candidate Answer: [ NOT ANSWERED ]

QID : 397 - Which type of epithelium is made of a single thin layer of flattened cells with irregular boundaries?

UK Frclch <hT chi-T TT UhR Teh TUET hIfARTS & Tael TR T Ia1 & foads fFR srfafaa gia &7

Options:

1) cuboidal
2EICIN

2) columnar
TIHTHR

3) ciliated
gaaTet

4) squamous
Ry

Correct Answer: squamous
STeeht

Candidate Answer: [ NOT ANSWERED ]

QID : 398 - Which is the longest river bridge in India?

TR T e e ALY g i |1 87
Options:
1) Bandra-Worli Sea Link
TrT-ael! TEEg
2) Mahatma Gandhi Setu
AT Ml O
3) Vikramshila Setu

2
4) Vembanad Rail Bridge
IHIHIE 3 oG

Correct Answer: Mahatma Gandhi Setu
TgTeT mieht O
Candidate Answer: Vembanad Rail Bridge

AHSHIG I
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QID : 399 - Which of the following is a famous Classical Indian dancer?

FefafEd & @ o v uflig wRd ety Tde/add 82
Options:
1) Amrita Sher Gil

ST RAA
2) Satish Gujral

SEINEIGHES
3) Sonal Mansingh
e AARE

4) Bhimsen Joshi
e seh
Correct Answer: Sonal Mansingh

e gHfdE
Candidate Answer: [ NOT ANSWERED ]

QID : 400 - Which of the following is a recipient of the "Ashoka Chakra" award?

frfafea & & fhg "sriier 9eh" &R e g 82

Options:
1) Abhijeet Gupta
RIS

2) Hangpan Dada
ICEEAC

3) Akhil Kumar
sifaet

DHR
4) Sunil Chhetri
CE

Correct Answer: Hangpan Dada
U grar

Candidate Answer: Hangpan Dada
BIu- arar
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